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General Instructions :
() This question paper contains three parts A, B and C.
(i) Part Ais compulsoryfor all candidates.
(i) Candidates can attempt orye part of the remaining parts B and C.
(iv) All parts of the questions should be attempted at one place.

AT R
() T2 997-9 17 9 & fawes & - &, @ ST T
(i) 9T & @4 o= & fag sifaard 2
(i) S 977 @ ST T H q PIT TH YFT BT BT &
(iv) ET 397 @ T4 970 & S/ T & & W @y

PARTA
(Accountancy)

qNT &
(FraTeTe)

1. Listany four essential features of partnership. 2

qEerd & el ar offvard fasodre & gar a ey |
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2. Give the meaning of ‘Reserve Capital'. 2
Haq g5 & e Jarey |

3. Whatis meant by ‘Preferential Allotment of Shares’? 2
‘grafHeRdT & SR W A & et & 7| Fef &7

4. Define a‘Debenture’. 2
‘FOTYS Bl GRYTST ERTT |

5. A, B and C were partners in a firm sharing profits in 2 : 3 : 5 ratio. A was guaranteed a
minimum profit of Rs. 1,00,000. Any deficiency on this account was to be borne by C.
The net profit of the firm for the year ended 31.3.2006 was Rs. 4,50,000. Prepare Profit and
Loss Appropriation Account of A, B and C for the year ended 31.3.2006. 3
A, T T T TR GH b AEER F JAT 2 0 3 5 % STU H ATl BT THNE B A |
A B AT 1,00,000 . & ATH HI MRS & T AT 39 fawg H R oFF w1 @ |
9 g&T HET AT 31.3.2006 H FHI BT 99 & [0 BH BT JE AW 4,50,000 .
g7 31.3.2006 FH T &Y A & U oF, T TN G HT ATH-BI [AESE @@ R
BT |

6. ALtd. issued 10,000 7% debentures of Rs. 100 each. Pass the necessary journal entries
for issue of debentures in the following cases : 3
(@ When debentures are issued at par and are redeemable at 5% premium.

(b) When debentures are issued at 5% premium and are redeemable at par.
(¢) When debentures are issued at 5% premium and are redeemable at 5% premium.

3 fa. 9 100 B ar@ 10,000 7% FOTOST T A fRar) worei & feme & oo
fr=ifoiaa aRfEafoal & IoHma & stagges graftedr #ifg -
(3) S FOTYHAT B AT G W R T 8 q9T 3% 5% & STEed W e &

=Sl

(@) S FOT9E Bl 5% FAfedHed X T AT T & qer S e WX SER
Bl

(@) 9 FOH F AT 5% & e W fRar T 8 q9r S SeE 5 & St
W HET &

7. X, Y and Z are partners in a firm sharing profits in the ratio of 4 : 3 : 3. They admitted
P as a new partner. X, Y and Z each surrendered I/3rd of his share in favour of P.

Calculate the new profit sharing ratio of X, Y, Zand P. 4

T, 9IS AT S Uk BH % AEER & JUT 4 ¢ 3 ¢ 3 % SN § |l B [THe R
F1 3= @ B TH AT GERER & WY F G BT U, dE a9 Tdd o
YT AT RN 1/3 AT G & g H guida & fear)| uew, 9, 9 q9r § & S9r ary
[ERISERCE IR e S
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8. P, Q and R were partners in a firm sharing profits in 7 : 8 : 5 ratio. Their firm was
dissolved on 28.2.2007. After transfer of assets (other than cash) and outsider’s liabilities
to ‘Realisation Account’, the following transactions took place :

()  Debtors with Rs. 9,000 paid Rs. 8,900 in full settlement of their claim.

()  Creditors Rs. 6,000 were paid Rs. 5,500 in full settlement of their claim.

(i)  Expenses of realisation Rs. 900 were paid by P.

(v) Lossonrealisation was Rs. 15,000.

Pass necessary journal entries for the above transactions in the books of P, Q and R.

o, &g TAT IR TH G & WEER & AT 7 : 8 1 5 % U H @l BT A Hd
T 28.2.2007 HI IAHI ®H T famed & MaT| Fuiaa (Awg & AAfaRss) dor Gl
AT B YA @A H EFIRT B & G9aTq =g o 87 ¢
() SRR @I, S 9,000 B FH &, HUA T & PF MuH & fOU 8,900 F. H WA
feRaT |
(i) TRRI ® T 6,000 . & T H IO MU W 5,500 F. BN YA HAT 4T
@) dF 5 900 . F AYAT @Al BT YA BT |
(v) a9l 9 B 15,000 5. &7 |
d1, ] T AR & Tl § SUGH a-adl & [ A | STagdes giaftedr s |
9. Dhyey Ltd. redeemed Rs. 30,00,000, 8% debentures issued at a premium of 5% as
follows. Rs. 12,00,000, 8% debentures were converted into equity shares of Rs. 100 each

issued at a premium of Rs. 25 per share and the balance by converting them into 8%
preference shares of Rs. 100 each issued at a discount of Rs. 10 per share.

Pass necessary journal entries in the books of the company. Show your workings
Clearly. 4
&g . 7 30,00,000 &. & 8% FOGE w1 e, B 5% sAferged W fifa forar
T, AR fRAT1 12,00,000 B, & 8% FOUS BT QUEM, 100 &. A THar A H
qRafid & fhar, B 25 &. gfd oigr siftrfe W frifaa fopar mam e 9w Foros
& QML 100 5. aTd 8% YAIerpR S § gRafda @b fohar, (B 10 5. gfq sfar g2
R it forar @
FFAT BT GEIR H AEAE AT GrAfeedl BT | AUl Bl fTol w e
[ECIE

10. On 1.3.2007 Jay Ltd. had a balance of Rs. 25,20,000 in its Profit and Loss Account.

Instead of declaring a dividend the company decided to utilise the profits for the
redemption of its outstanding Rs. 24,00,000 7% debentures at a premium of 5%.

Pass necessary journal entries for the redemption of debentures. 4
1.3.2007 & 9T foI. & @8l @d H 25,20,000 5. H AT AqT| AT T & IOT
FHFAE A TH ATH B SYANT U 24,00,000 B FH 7% FOGHA & M FH B o0
fopam | ®OTOST T Qe 5% SIfered WX fRar T

FOOE & A & (qU Ao H gfaftedr S |
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11. Raja Ltd. purchased building from Ashoka Ltd. for Rs. 36,00,000. The vendors were paid
by issue of equity shares of Rs. 10 each. Pass necessary entries in the books of Raja Ltd.
when

()  shareswere issued at par,
()  shareswere issued at 20% premium and
@)  shareswere issued at 10% discount. 4

T[T {0, o AT fol. § 36,00,000 . T Haq @UST | {OhdT Bl YA 10 6. A GHAT
sl & T & Ern forar ) e fo. @ gl 9 srasaes yiaftedt #ife Sdih
() 3 B e ae W fear @,
(i) SN B S 20% St W R qar
(i) AT BT FEET 10% TE W fRar M)
12. G and H were partners in a firm sharing profits and losses in the ratio of 3 : 1. On

28.2.2007 their firm was dissolved. The Balance Sheet of the firm on that date of
dissolution was as follows :

Balance Sheet of G and H as on 28.2.2007

Liabilities Amount | Assets Amount
Rs. Rs.
Bank Loan 70,000| Cash 10,000
Creditors 1,30,000| Building 5,00,000
Capitals : Stock 40,000
G 3,00,00d Profit & Loss A/c 50,000

H 1,00,000 4,00,000
6,00,000 6,00,000

Building realised Rs. 3,00,000; Stock Rs. 15,000. Rs. 1,05,000 were paid to the
creditors in full settlement of their account. The firm had a joint life policy of
Rs. 10,00,000 which was surrendered for Rs. 70,000 on the date of dissolution. The
annual premium paid on the joint life policy was debited to the Profit and Loss
Account.

Prepare Realisation Account, Cash Account and Partners’ Capital Accounts. 6

OR

A and B were partners in a firm sharing profits and losses equally. On 28.2.2007
they decided to dissolve the partnership. On the date of dissolution A's capital was
Rs. 60,000 and B’s capital was Rs. 45,000. There was a cash balance of Rs. 4,000.
Creditors on that date were Rs. 20,000 and there was a balance of Rs. 39,000 in the
general reserve account.

Sundry assets realised Rs. 1,02,000. Expenses on dissolution were Rs. 5,000.
Prepare Realisation Account, Cash Account and Partners’ Capital Accounts. 6
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ST qET U9 Uk BH & GEER S 9T 3 ;1 % U H ARl & e a9
28.2.2007 HI Ik ®H & famed & mar| faged &t fafr & o @& Rafa faawr
Frfafaa e :

28.2.2007 &t ST 4T T &1 Rafa fRawor

AT T | Tt T
5. B.
d% For 70,000| T e 10,000
SRR 1,30,000| 9a= 50,00,000
gt w@ih 40,000
St 3,00,000 - @rar 50,000

g 1,00,000  4,00,000
6,00,000 6,00,000

o & 3,00,000 &. TIT €ih A 15,000 &. B TGl g | &R &l 6 @ & oI
TAE & & | 1,05,000 & U 10| fame & fafr & & & 98 10,00,000 &. &
UF Ggh Siad S difadr off e g\der 70,000 . H fRAT T@T1 GGH SAEd S
giferdl W 3T At Wiftgw & ey @ & 9§ forar Srar e

Il @I, RS @IAT a9 qEEr & ol @d qar i |
AT

H T T TR BH b HEER & qUT FAM AU H AW-EI b {9 wRd o)
28.2.2007 I Ireld TGN & faged &1 ol frar) fage & fafer & o @ ¢S
60,000 &. TAT T &I ol 45,000 &. &A1 THE T 4,000 . g7 Iq [ART P TRR
20,000 &. & TAT FET G9F @ | 39,000 &. AT I |

fafter Tt & 1,02,000 &. 9t g1 foEeT & @4 5,000 &. O
AT @I, Tehs @I T AEER & Yofl @I dar B |

13. Laxmi Ltd. invited applications for issuing 10,00,000 equity shares of Rs. 100 each at a
premium of Rs. 25 per share. The amount was payable as follows :

On Application Rs. 50 (including premium)
On Allotment Rs. 50
On First and Final call— Balance

Applications for 17,50,000 shares were received. Applications for 2,50,000 shares were
rejected and pro-rata allotment was made to the remaining applicants. Overpayments
received on application were adjusted towards sums due on allotment. Victor, to whom

1,000 shares were allotted, failed to pay allotment and first and final call. His shares

were forfeited. The forfeited shares were reissued for Rs. 11,000 fully paid up.

Pass necessary journal entries in the books of Laxmi Ltd.
OR
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Pass necessary journal entries in the books of a company for the following

transactions 6

() 400 equity shares of Rs. 100 each issued at a discount of 10% were forfeited for the
non-payment of final call of Rs. 20 per share. The forfeited shares were re-issued for Rs.
40,000 fully paid up.

@M 13,000 equity shares of Rs. 50 each issued at a premium of Rs. 8 per share, were
forfeited for the non-payment of allotment money (including premium) of Rs. 23 per
share. Application money of Rs. 15 per share had been received on these shares and the
first and final call of Rs. 20 per share was not made. The forfeited shares were re-issued
at Rs. 55 per share fully paid up.

AT fT. 5 100 5. Y& AT 10,00,000 FFAT AT BT 25 . Ui A9 AT W A
& fau emdes st fhg ) afer 91 g6 | 27 4 ¢

e W 50 5. (fen afed)

MEeT 9 50 &. Uil 3791

Y AT SAH AT W - q9 A
17,50,000 M & 1T STIE 9T T 1 2,50,000 AT & forq fobw M0 SrrareHt #r & & fear
AT TAT QY HATASHT I SATAD AR YT AT BT 3T fhar T | f1ae 9 I &Y
SAfafts Tl & TR e w2 i § X forr wan) faeex wr 1,000 s w
ST fopam T o, IE e Wi qOr GO Ug SAtaq AT LT B I T8 foha |
I A BN FAed H (AT AT T BT T S B 11,000 F H QU7 gawq g i
FY fear )

et for. & gEienl | USHME § raegs giaredl Hif |
AFqT
T O I GEIRl H el oFedl & fag aomme § stasae gfafeat S

() 10% & I R fFifAa T T 100 5. Gt 400 THAT SiT H 20 B, GhA ST W
HATH ATEAT BT A T FBRA W e & fodr T Fed 6 T S w
40,000 %. F qof yex q: fifad & fear

@) 8 % 9T Ay & A W FFivE R 1T, 50 & A 13,000 GHAT AL Bl
23 T, i A (SATFed Qied) €T WA & YA T B W Sed wL fordn
T 3T SN W SEeT Wiy 15 %, Uiq 39Tyt B WE off qur 20 ®. wiw sfer
® YR UG AqH AT AR e TE v | Seq T TS @ 55 . Ul sfer
R Iof yed g feitaa @ fear @
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ratio of their capitals.

Liabilities Amount | Assets Amount
Rs. Rs.
Creditors 4,600 | Building 23,000
Reserve 5,400 | Machinery 13,000
Capitals : Stock 4,700
P 24,000 Debtors 6,500
K 12,000 Cash 6,400

B 8,000 44,000
54,000 54,000

14. Following is the Balance Sheet of P, K and B as on 31.3.2006. They shared profits in the

P died on 30.6.2006. Under the terms of partnership the executors ofa deceased

partner were entitled to :

()  Amount standing to the credit of the Partner’s Capital Account.

()  Intereston capital at 12% per annum.
(i)  Share of goodwill of the firm which was valued at Rs. 36,000 on P’s death.

(v) Share of profit from the closing of last financial year to the date of death on the
basis of last year’s profit. Profit for the year ended 31.3.2006 was Rs. 7,000.

Prepare P’s Capital Account to be rendered to his executors. 6

31.3.2006 I G, & dor O &1 Rafa ey F=fafaa ar) @ @ & v saer
IRl & STIa H #d 9

COLIY TfsT | gkt Tfar
. 5.
IR CAES 4,600 | Wa= 23,400
gag 5,400 | 7= 13,000
qforar : e 4,700
L1l 24,000 IR 6,500
F 12,000 Aks 6,400

Eil 8,000 44,000
54,000 54,000

30.6.2006 I UT 1 BT B AT | AR Ho@ & FJAN 9d HIEHER b (el i

ffotEa <7 o :

() HEER % G @ & 99|

@) 12% 9T ¥ B W LI W &0 |

(i) wH > A § e e e 9w §g W 36,000 . R W@

(v) Toed fad ad & @Y & SR W 9g &1 fdfer a6 e & esr) 31.3.2006
B FE Y a9 H AW 7,000 B AT

9t & e B IEId H eq U @ Sl @rar SeEy |
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15. A and B are partners in a firm sharing profits in 2 : 1 ratio. They admitted C for 1/4
share in profits. C was to bring Rs. 30,000 as capital and capitals of A and B were to be
adjusted in the profit sharing ratio on the basis of C’s capital. The Balance Sheet of A

and B as on March 31, 2006 (before C’'s admission) was as under :

Liabilities Amount | Assets Amount
Rs. Rs.
Creditors 20,000 Cash 2,000
Bills Payable 19,000 | Debtors 50,000
General Reserve 6,000 | Stock 10,000
Capitals : Machinery 25,000
A 50,000 Building 40,000

B 32,000 82,000
1,27,000 1,27,000

Other terms of agreement were as under :

()  Cwillbring Rs. 12,000 for his share of goodwiill.

@  Building was valued at Rs. 45,000 and Machinery at Rs. 23,000.

(i) A provision of bad debts was created @ 6% on debtors.

(v) Capital Accounts of Aand B were adjusted by opening Current Accounts.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of A, B

and C.

P, Q and R were partners in a firm sharing profits in the ratio of 3 : 2 : 1. On
31.3.2006 Q retired from the firm. On the date of Q’s retirement the Balance Sheet of

the firm was as follows :

OR

Balance Sheet of P, Q and R as on 31.3.2006

Liabilities Amount | Assets Amount
Rs. Rs.
Creditors 27,000( Bank 27,600
Bills Payable 12,000| Debtors 6,000
Outstanding Rent 2,200| Less Provision for doubtful debts 400 5,600
Provision forlegal claims 6,000| Stock T 9,000
Capitals : Furniture 4,100
P 46,000 Premises 96,900
Q 30,000
R 20,000 96,00(
1,43,200 1,43,200
67/2/1 8




On Q’s retirement it was agreed that :

0

i

) 5% provision for doubtful debts was to be made on debtors and Rs. 7,200 for legal
damages.

(i)
)

Stock will be depreciated by 10%.

Goodwill of the firm was valued at Rs. 24,000.

balance will be paid to him by cheque.

Premises will be appreciated by 2% and furniture will be appreciated by Rs. 1,700.

Rs. 20,000 from Q's Capital Account will be transferred to his loan account and the

Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of P and R
after Q’'s retirement.

T T UH BH § GEER E oqd@r 2

1 & U § Al & 9w § 1 IR
AH & 1/4 T & 1T | &1 & § yagr far) & & G & @7 30,000 €. @9 & qer
T B G & SMER 9 A WS ST § 37 4T § &0 Yol I Gl T or |

31.3.2006 B (T & a1 & qd) of qo1 & o1 Rf foeror fe=fafea ar -

ERCIY fyr | et far
0. 0.
WER 20,000 | T%g 2,000
g faa 19,000 | e 50,000
qA g9 6,000 | ©i® 10,000
qforat - LERIEE 25,000
o 50,000 CGE) 40,000

| 32,0000 82,000
1,27,000 1,27,000

U &l 3T 9 1 YhR F &f ¢

0
(i)
(i)
)

QT @I, |EEr & G @ a9r 3, § Ud § & Rafd e TR Sk

67/2/1

g &fd & e By & fow 12,000 &, @M@ |

AT

I T eI 45,000 F. T AT T 23,000 5. fehaT T |
TRl W 6% & X F Tad FON & [0 e AT S |
H T T H YOI @l BN AR @ @A B GHEI fRar ST |

8
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16.

17.

d, g qAT SR UH BH § AEER & qEr 3:2:1 & ourd § Wi wr fawee wd
g1 31.3.2006 B H ¥ FH H FAHIT TS RAT| R & START TS A &l frer
N ®H 1 feafa ferer fefataa e ¢

b, I T AR Fr Rafr fEwer 31.3.2006 &t

CRRIY i | Featat qfer
0. 5.
TER 27,000 | ¥ 27,600
T faa 12,000 | 29ER 6,000
3Ed dad 2,200 | 7T giewer Fon & fou yraems 4000 5,600
AN Tl & fore graeE | 6,000 | ®ih — | 9,000
qforar LG 4,100
a 46,000 RER 96,900
B2 30,000
3N 20,000 96,000
1,43,200 1,43,200

T FH AAH TEOT HA W IS FHAT I o
() dURE &I T 2% § Fha N I T FAER & T H 1,700 & F g &l
ST | R HB 10% JedBrd fohar S |
(i) R W Gy Fon & [0 5% & YEeE fRar SO q9r & aE & fog
7,200 ©. T YL fhar SIe |
(i) ®H @ AT BT TR 24,000 F. Thar M7
(v) + & S @d & 20,000 5. F & KT @A H EFRRA {60 AT qor 39 9
I T A =9 SR fRar S |
I @Tdl, |Eerl & Sl @rd 97 R & TEEI I8 R 9T 4T J°T SR H
Rafa fgeror @R Fifeg |
PART B
(Analysis of Financial Statements)
qr |
(Rt o’ &1 frgaomn)

State any two objectives of preparing a ‘Cash Flow Statement’. 2

qHS Jare fFawer g9 B fheel ol SEvdl B S i |

X Ltd. is a Mutual Fund Company. The. company invested Rs. 50 lakhs in the shares of
Y Ltd. State with reason whether the dividend received on the shares of Y Ltd. will be
cash flow from operating activities or from investing activities. 2
o fa. Waﬁwwmﬁ%wmﬁ%w%ﬁﬁwwﬁ%mﬁﬁ
50,00,000 &. &1 AT fHaT| FROT Gfed IaET & 3 St (a9 W ot @iy

AT foRaTeRardl & 9T Aehg garE BN qer fdslt Bharsamal § i Uhs Yars |
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18. The Balance Sheets of Blue Bell Ltd. as on March 31, 2005 and 2006 are given below

Prepare Comparative Balance Sheets showing percentage changes from 2005 to 2006.

Blue Bell Ltd.

Balance Sheets as on March 31, 2005 and 2006
Particulars 2005 2006
Amount Amount

Rs. Rs.
Share Capital 4,26,000 3,44,000
Long-term loans 6,96,000 4,38,000
Current Liabilities 2,98,000 78,000
14,20,000 | 8,60,000
Fixed Assets 5,68,000 | 4,30,000
Investments 6,000 4,000
Current Assets 8,46,000 4,26,000
14,20,000 | 8,60,000

& 9 o, #1 31 A, 2005 FAT 2006 F1 Rfq farer F=r fezw w2

= 3 .
31 ATH, 2005 q&T 2006 T fRafa feawor

feraror 2005 2006

fer afar

<. B.
3fer ot 4,26,000 | 3,44,000
SrHET 0T 6,96,000 | 4,38,000
EIEER LI 2,98,000 78,000
14,20,000 | 8,60,000
Tt getEt 5,68,000 | 4,30,000
fafermr 6,000 4,000
a qEarE 8,46,000 | 4,26,000
14,20,000 | 8,60,000

g 2005 ¥ 2006 H U AN URATHT Pl IS0 3T TS R e qam i |

19. Briefly explain the interest of investors and management in the analysis of financial
statements. 3

o faaen & fagawer § fasel 9o gaweehl & fBdal & 989 4 J9E |
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20. Calculate anywoof the following ratios on the basis of information given below :
() Liquid Ratio
(i) Proprietary Ratio
(i) Operating Ratio

Information :

Sales Rs. 3,40,000; Cost of Goods sold Rs. 1,20,000; Selling expenses Rs. 80,000;
Administrative expenses Rs. 40,000; Current Assets Rs. 1,50,000; Current Liabilities
Rs. 1,05,000; Closing Stock Rs. 10,000; Fixed Assets Rs. 2,80,000; Equity Share Capital
Rs. 2,75,000 and General Reserve Rs. 2,00,000.

F=Ifeiiad gomT & SmaR W = § & {8l &1 Ul el M1 iy
() TR ST
(i) T ST
(i) &=
g :
fasha 3,40,000 &.; I T AT P AT 1,20,000 5.; fRT @ 80,000 F.; IITEH T
40,000 .; TG TR 1,50,000 &.; T T 1,05,000 &.; ATH i 10,000 %.; TIH
qrfrEr 2,80,000 &.; FHAT AT Sl 2,75,000 &, T&AT WEET €I 2,00,000 5.
21. XY Ltd. had a profit of Rs. 15,00,000 for the year ended 31.3.2006 after considering the

following :
Depreciation on building Rs. 45,000
Depreciation on machinery Rs. 22,000
Goodwill written off Rs. 17,000
Loss on sale of machinery Rs. 5,000.

Following was the position of Current Assets and Current Liabilities of the company in
the beginning and at the end of the year :

Particulars 1.4.2005 31.3.2006
Rs. Rs.
Debtors 30,000 45,000
Stock 1,00,000 78,000
Cash 33,000 47,000
Creditors 57,000 63,000
Outstanding Expenses 10,000 7,000
Bills Payable 9,000 14,000
Calculate Cash Flow from Operating Activities. 6
OR

67/2/1 12



With the help of the Balance Sheets and Profit and Loss Account of AB Ltd. calculate

Cash Flows from Operating Activities.

Balance Sheets of AB Ltd. as on 31.3.2005 and 31.3.2006

67/2/1

Liabilities 2005 2006Assets 2005 2006
Rs. Rs Rs. Rs.
Share Capital 2,20,000| 2,93,000 I&nt 3,20,000 3,30,00¢
Reserves 60,000 96,000Accumulated Depreciation) (30,000)| (38,000
Loan 1,00,000; 80,00(Patents — | 58,000
Proposed Dividend 20,000 25,000 Stock 1,00,000 1,20,00(
Creditors 80,000| 65,000Debtors 70,000 67,000
Cash 20,000 22,000
4,80,000| 5,59,000 4,80,000 5,59,00(
Income Statement of AB Ltd. for the year ended 31.3.2006
Dr. Cr.
Particulars Amount| Particulars Amount
Rs. Rs.
Depreciation 8,000 Sales 3,90,000
Salary 55,000
Rent 79,000
Commission 27,000
Other Expenses 1,60,000
Net Profit 61,000
3,90,000 3,90,000
Proposed Dividend 25,000
Profit Retained 36,000 Net Profit 61,000
61,000 61,000
13 P.T.O.
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Fr=feiaa 7 THEeH T & 99aTd 31.3.2006 T T gU a9 H U d15 fof. BT @e

15,00,000 &. ©T :
s T e 45,000 5.
LRIE U T (2 FI 22,000 &.
sufafad & TS =& 17,000 5.
e & faer W Bt 5,000 .
Y & AW JAT I H FAT bl AN TRl q9T 9 aarst @ Rafa e geR
o :
feraroT 1.4.2005 | 31.3.2006
5. 5.
ik 65,000 69,000
CE K 40,000 25,000
RS 47,000 74,000
EEAES 94,000 1,03,000
e AT 5,000 3,000
2 faa 49,000 58,000
Tara ohaTehardi ¥ Uhs JaTe &l 0T dHifeTg |
Tgar
31 ¥ fo. & f=faRag Rufa faawen gor arg-sife @d & 9e™ar 9 §9rad oharehardl
q Uhs A8 & AT BT ¢
o1 ¥ for. = fRafa fERor 31.5.2005 T&T 31.3.2006 A
GOy 2005 2006 geafat 2005 2006
5. 5. 5. 5.
ST ISt 2,20,000| 2,93,00085= 3,20,000| 3,30,00(
gag 60,000/ 96,000 THET T (30,000) | (38,000
Ayl 1,00,000] 80,000 Ue~H — | 58,000
I AT 20,000| 25,000 =tH 1,00,000| 1,20,00(
[UREAES 80,000/ 65,000 3R 70,000| 67,000
UHs 20,000| 22,000
4,80,000| 5,59,000 4,80,000| 5,59,00(
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& ¥ . #1 oy faaRor 31.3.2006 H gHATG g AW B forg

Dr. Cr.
fereror rfer | fererer RUEl
5. 5.
e 8,000 faspa 3,90,000
ESE 55,000
B 79,000
ERINE] 27,000
g T 1,60,000
IE T 61,000
3,90,000 3,90,000
TEATd AT 25,000
gfcremRa 9 36,000 9 @Y 61,000
61,000 61,000
PART C
(Computerised Accounting)
HO T
(arirerfersr daie)

16. Whatis a Foreign Key ?
JrEr Fel (BIRA @) /1 ' 2

17. What is meant by hierarchy of accounts ?

Qrat & =T H Fr arad g 2

18. With the help of a suitable example explain the concept of DCL.

U SUGH Salell Bl Feddl § SLULUA. STURON Bl GHHARY |

19. Whatis normalisation ?

AT T 8 2

20. What is Hierarchical Coding ?
AT Hehdlol HT &
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21. (a) Design a Bank voucher with the following information of M/s Vinay Ltd. : 3

Date V. No. | Code Account Amount

(Rs.)

31/01/07 2 601001 | Equity Share Capital | 2,00,000

31/01/07 2 611001 | Premium on Issue 50,000

31/01/07 2 110001 | Bank 20,50,000
Prepared by Rakesh Authorised by Sanjay

(b) M/s Vinay Ltd. employs 30 persons whose Salary comprises Basic Pay, Dearness
Allowance, House Rent Allowance and City Compensatory Allowance. The following
are the rules governing the payment :

Write the queries in SQL using the following data in MS-Access to compute the
allowances:

House Rent Allowance Rs. 1,500 up to a Basic Pay of Rs. 10,000; Rs. 3,500 up to
Basic Pay of Rs. 20,000; Rs. 6,000 for Basic Pay above Rs. 20,000.

City Compensatory Allowance : @ 10% of Basic Pay subject to a minimum of

Rs. 1,000. 3+1=4
(30 I fog fo. @ fefaRad g & SgR W 9% aea@ qar $ifag ¢
IEGIED I &7 | HiS Qrar T
(5.)
31/01/07 2 601001 fafamT gt 2,00,000
31/01/07 2 611001| fafv=rm @ = 50,000
31/01/07 2 110001| &= 20,50,000
AR - DT SER IR PE)

@ Tud fog f@. 30 aftwdl & fg® #=a €, e aaw & 9a o, 7EmE W,
ThE R qAT qem STl afaqfd A |teiad & | A & fretaiad FEe
g

Il I TOET FRA b [0 i ST R THUE-UEE § O S9E aRd 8

THALUE. | 9o fafag

HbE AT €T 0 10,000 . @ dqT T 1,500 F.; 20,000 F. A dqT AB

3,500 &.; 20,000 &. 9 ga- d 3AfEH W 6,000 5. |

qredt afagfel WA 9 a9 B 10% R F Al FHAaH 1,000 5. |
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